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class Animal {

public void set() {
System.out printin("&EiH=J 1B ! );

class Fish extends Animal {
public void swimming() {
System.outprintin("EHEER ! );

class Roo extends Animal {
public void leap() {

System.out printin(" I FCREE | );

public class Test {
public static void main(String[] args) {
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CitIl, Roo pet=new Animal(); 75| AIEEREN R HIRIFHEIZ.

DI£If, Roo roo= new (Roo)pet;i X MEEART, REiZBnew, WMREnewEE
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A Roo one=new Roo();
one.leap();
Animal one=new Roo();
((Roo)one).leap();

C
Roo pet=new Animal();
pet.leap();

D

Animal pet=new Animal();
Roo roo=new (Roo)pet;
roo.leap();
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